PLANS AND ELEVATIONS
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*7

M1 for a method to calculate at least one arca cg 10 * 7 (=70) or 16 x 10
(=160)

MI for a method to find the total area (=124)

MI (dep on M1) for 124" = 36

C1 (dep on M3) for 3 (pigs) clearly identified and supported by correct
calculations

or

MI for an area of 36m* drawn with dimensions shown

MI for 3 areas of 36m* drawn with dimensions shown

MI (dep on M1) for method to find the area left (=16)

1 (dep on M3) for 3 (pigs) clearly identified and supported by correct
calculations
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MI for a Sem by 5 em square or a Sem by 3 em rectangle or a 5 cm by 2 em
rectangle

Al for correct elevation with dividing line

NB: diagrams which appear to have a 3D element get 0 marks
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14 (@ B2 for correct front elevation
(B1 for the correct diagram with extra row or
extra column)
Internal lines need not be drawn
(b)

B2 for correct plan - it can be rotated
(B1 for any rectangle that is not a square)
Internal lines need not be drawn
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13 (@)

(b)

lem
lem

3em

Plan shown as
two rectangles
1cm by 4cm

B2 cao
(B1 for a rectangle 4 cm x 1 cm or a rectangle 4 cm x 2
cm. Could be attached to other rectangles.)

Do not accept rectangles with additional external lines.

B2 cao
(B1 for a rectangle with one correct dimension)

Do not accept rectangles with additional external lines.
NB: any orientation possible; ignore internal lines.
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(®)

Correct plane

Correct elevation /\

B2 for a correct plane defined by showing at least
2 adjacent lines of the plane
(BI fora line of symmetry on one face)

B2 fora sketch of trapezium
(BI_for trapezium with a rectangle or parallelogram
added at top ora side or lines drawn from vertices)
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sketch

M1

Al

for sketch of a cylinder

sketch of cylinder, with dimensions shown

Hidden edges may or may not be shown

2(cm) for radius or 4 (cm) for diameter and
5 (cm) for height
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(®)

isosceles triangle,
base 6 cm, height
4em

96 cm?

M

Al

M

M

Al

BI

for drawing an isosceles triangle
or for drawing a triangle of base 6em and height dem

for a fully correct diagram
for a method to find the area of a triangular face
egtx6x5(=15)

(dep) for finding the total surface area
egdx 15" +6 %6

for a numerical answer of 96
SCBI for an answer of 84 if MO scored

om®

Accept a frechand drawing
Only a single triangle is acceptable;

do not accept any attempted nets or 3-D.
diagrams

Condone a perpendicular drawn from
base to vertex

Ignore incorrect or absent units for this
mark
[The SC is from: 4 x % x 6 x 4 + 6 x 6]

Ignore incorrect or absent numerical
answer for this mark
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Side elevation

Front elevation

2
[c1
o)

c1

Tor the side elevation (4 cm by 2 cm rectangle with a solid line drawn 1 cm from the 2 cm
edge, and correct orientation)
for the side elevation as a rectangle]

for the front elevation as a trapezium in correct orientation with base 4 cm, parallel sides 1
cmand 4 cm

for the front elevation as a trapezium with two right angles]
[1gnore incorrect o no labelling]
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plan

C1
C1

a partially correct plan
correct plan
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‘Correct sketch

c1

c1

‘nterprets diagram eg. draw a solid shape with at least two correct
dimensions

draws correct prism with all necessary dimensions.





